R\Clients\Endura PERMANENT\B - Texas Dept of ins\TD! - DR-854 Masonite ST Opaque (Trilennium\C - Drawings\TX-4678.79.81.82.dwg, TX-4682

POWERED BYIﬁ

ENDURA

DOOR COMPONENTS MADE IN THE USA

Opaque Steel Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Steel Door system described hereln complies with the 2018 international
Residential Code {IRC), Sections R301 & R609 and the 2018 International Building
Code (IBC}, Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the
following conditions:

1. Anchors shall be as fisted and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.

3. Allowable design pressure requirements must be equal o or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this

. drawing. . , .

4. Conditions not covered by this drawing are subject to further engineering

analysis.

TABLE OF CONTENTS

SHEET # | DESCRIPTION
1 Typical elevations, design pressures & general notes
Astragal details {Ultimate Trilennium)
Door panel details
Horizontal & vertical cross sections
Vertical cross sections
Frame anchoring

|l

74" MAX, O.A. FRAME WIDTH

98" MAX. O.A. FRAME HEIGHT (INSWING)

97.125" MAX. O.A. FRAME HEIGHT [OUTSWING)

O

ﬂ

XX

INSWING

+35.0

-35.0

XX

OUTSWING

+45.0

-45.0

E.OF

b +* ?é N"‘.
F.sc
4123

10

Lyndon F. Schrnidt, P.E.
TEXAS P.E. #104123

BUILDING CONSULTANTS, INC.

Documents Prepared By:

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.O. Box 230 Valrico FL. 33595
CERTIFICATE OF REGISTRATION # F—11852

Phone No.:

%)
=
o8
%)
&
=
gy
<
o L =L
> xl <©
2 | L«
S| 3
L ] ]
gl o
<<‘('%
= Q:Qm
s |8 g2
a ,_t“-l
© el X
& < o
o o
oF =
Lol

UPDATE TO 2018 IBC/IRC CODE

11/4/19 |ADD "FusionFrame” OPTION &

1

REVISIONS

oATE: 11/16/1

&
<
a
o
Z
6

SCALE:

N.T.S.

DWG. BY:

JK

CHK. BY:

LFS

DRAWING NO.:
TX—4682

SHEET

1 _oF 6

© 2016 R.W. BUILDING CONSULTANTS INC.



SON| SANVLINENGOD aNIaHng "M 9102 @
SERNonh fNipumon o i (aNNL Bl g — TG ToN|
— . (o]
£616°659°C18 TON SUoUg , 3000 _0dl/281 810z Ol 31vadn Ju|x || o |
GBGET Tld OJMIDA 0CZ xog .o.m\h\h@» CATEWESSY 0 Livd | 547 % NOILdO ,8wbijuolsng Qv mp\v\: L mm - ~ . © S
“ONI ‘SINVLINSNOD ONIGTINg N g 4 2_
£TIHOL#F 'T'd SVXIL VHNANG = m m £ Tl
‘A'd WPIWYDOS 4 uopuk Ag pedodesd sjuULWINDOQg 119n3a0Yd W S m E|& &
u [*RE=] n
* WOLI09
I% .
™
W —
3] z
152} « %
~
— [ S97
| .
.Q
- « bog
o N ¢]
<~ Mr@ - ~ (@)
= 2 -
w0 (o) ....\Iu
= o <C
uy
8 N
M -
o
o~
~o [%2]
= 4
2 o} o 2
o~ Joome
~ <C =
'®) <
g 3
g = S
) L LLI
o 24 o
Q < —
o 2 £<
(@) e}
O] 0 M e
T in < ) =3
O o3 T < =3
2 & 5 =6 =
< <
/ [y
N Q
- a.
)
[3F)
: ;3
N oc
S
w
=
o
U
0.
&
oo &
>
T e
o =
&
Hlif
d0l
o
>
O —
@ &
55
5t
[~2]
e 2 —i
1< 2
3 O
<C
8’4
Tll
V)
<C
g -}
35 28§ Z
- = o = £ =
e [ o't
B g 52 25 45
> N o S58 :
g T3 o 2 5 —
o < T W M Lii
£ Q =) o
5 9
£ - = <
N
E = =
< =
\ )

72 'BMpZ8 186, 8L9v-X1\sBumeiq - D\(winiuuaji L) anbedQ 1S s3UOSE ¥58-¥Q - IAL\SU] 0 1daq sexa) - B\LNINVINYId BINPUI\SIUBID\Y



STILE (LVL) oy, o g
) STILE (LVL) Fexlint &l g3 4
INTERIOR — 291" ——— SR T e TS w &3
7S A £+ g Ub
i , | WOOD) . === poi i i “y 429
0 ;~ ~ N — [Bus, 7 iz & ;%;3 Z8a 33
N S - Dl i9: 3 3 238 gk
Lty RORE SIS "
S 7) "Zz&*«.?% 3 %‘31? % g® &b
nrxisfe%y g2
EXTERIOR / i oo™ @ ©0¢ oy
0.81" - 0.81" 2 s 25f s,
LOCK BLOCK g 3550
(WOOD: 12' LONG) § Ras &K
1"\ HORIZONTAL CROSS SECTION PRS-
3 25 GA. STEEL £ E
N DOOR SKIN E K B8
]
o
35.75" MAX.
PANEL WIDTH
P =N
i
ST
<
= | INTERIOR EXTERIOR 2 [958
v g x©
I 7]
W [/ o < 863
i 2
3 E
o <
E o a
Y
2 5 &
Z I FOAMCORE |- 3
= N
8 el
& X Fli e
£ ]
NN
cl|O
SEE HARDWARE 59| |
TABLE = 8w
5
O
als
<
N
: DOOR PANEL ] 1 2
TRILENNIUM : NEE
\ SERIES 3000 MULTIPOINT BOTIOM RAILL | NS
; LOCKING SYSTEM (WOOD COMP.) S
L 1.75" »J 1=
0aTE: 11/16/16
DOOR PANEL S
o MOD {2\ VERTICAL CROSS SECTION owo. B JK
CHK. BY: LFS
Steel (Wood Edge) Trilennium®3000 Series \y DRAWING NO.:
Endura Mulfipoint lock (3pt.) X682
DOOR SKIN: 25 GA. STEEL (0.020" MIN. THICKNESS)
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.) oeer 3 of 6

Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-854 Masonite ST Opaque (Trilennium)\C ~ Drawings\TX-4678.79.81.82.dwg, 3.2

© 2016 R.W. BUILDING CONSULTANTS ING.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-854 Masonite ST Opaque (Trilennium)\C - Drawings\TX-4678.79.81.82.dwg, 4.2

2737\ 2X FRAMING 2X FRAMING . uj
3 (G >=0.42) (G >=0.42) A Pt e q
s X6/ : _ DRYWALL \ - DRYWALL | o= TG 4,04, £3 2 o
~ % ~ ‘ :',_*F;_,.* iSi 2 (% Ex g 4w
) RaN il S N AN F AT Lo EM L I
R I s P20 X '
| Il ExrsHEATHING ’ : EXT. SHEATHING k[ |# ggg% iBin WY 5: = a5 e
, |11 g% Iviy cingClsd £L.s 25
? Wi ¥ :D (e \ Q. Z2z
Ao iZiv o e z8g &8
My ¥ 14 AP O o £ EE0 =g
11( (6-;‘6 HeX 0y - 5‘ g g % é
‘ i RN B>
#10 X 2-1/2" PFH 11 z’li{“‘.fﬁ,’ PR g8° g2
f WOOD SCREW J Mo & i bE
| | IRYPIVING ' i £ g‘g"%%
i # Y o] c
\ b ] g 509 g
SHIMSPACE ™| e T~ #10X 3" PFH 2 m§. 2k
£ Q. [™
e 8 = 1/4" MAX. ! WOOD SCREW g E
SHIM SPACE . g e< &
. + = 3
N 1 = 00P0oo g
w i 'ﬂ“’e DOOR PANEL ? DOOR PANEL ~_
X X \ HEAD: PINE HEAD: "FusionFrame” {1-PIECE) 3
O
ENDURA WEATHERSTRIP ENDURA WEATHERSTRIP =9
(QEBD/PE 650) (QEBD/PE 650) ¥e
< [
H I EXTERIOR W INTERIOR EXTERIOR A\ INTERIOR § - 20
U o En
2"\ VERTICAL CROSS SECTION (3™ VERTICAL CROSS SECTION 5 QE
w Outswing shown - inswing dlso approved \6/ Outswing shown - inswing also approved o ol E
S S o 2
2 &
n (2N 0.
0.15" &
core(r:sr; ;DADS \7_/ VAMAX, o 1/4' MAX. =
SHIM SPACE (YP) SHIMSPACE  gxT. SHEATHING
EXT. SHEATHING JAMB: "FusionFrame”
AME: PINE (1 OR 2-PIECE)
0.75" “i“"—"‘l 0.75" -1—*>l "‘—”"’— 0.75" T ,~:, e 40 X 2-1/2" PFH #10X 2-1/2" PFH T Y w— —— UZ)
A ULTIMATE TRILENNIUM ASTRAGAL [T 2
N Lt
COMPOSITE NAPON %’gffg‘;; ENDURA WEATHERSTRIP 2X FRAMING &
\ CA-P ‘ ENDURA WEATHERSTRIP (QEBD/PE 650) {G>=0.42)
A \ (QEBD/PE 650) DOOR PANEL
%
:} ’h{;L] L ey SNV TRV TR Led
= e 2\ 5
L - \’; N X
/ g LVL R / \\\ \ IIII! 3
O DRYWALL #10X 2-1/2" PFH DRYWALL |2 11/16/16
—4 L— L‘ #8 X 2-1/2" PFH #8 X 1" PFH SMS LATCH WOOD SCREW #8 X 1" PFH SMS #8 X 2-1/2" PFH scale:  N.T.S.
1.25" S I N P WOOD SCREW S HNGE STRIKE PLATE  #8 X 1" PFH HINCE WOOD SCREW owe. B: K
JAMB /HEAD JAMB/HEAD  JAMB #8 X 34T PRH SMS HOOD SCREN #8 X 3/4" PFH SMS ow o LFS
DRAWING NO.:
PINE "FusionFrame”" "FusionFrame” q\ ﬁg’gzgg?:l: gtﬁs%sns saElsSZO’:'ove d TX—~4682
(1-PIECE] (2-PIECE) \.8 / Inswing 9 ako app o 7 o B

@ 2016 R.W. BUILDING CONSULTANTS IND.



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-854 Masonite ST Opaque (Trilennium\C - Drawings\TX-4678.79.81.82.dwg, 5.2

A\ Y
INTERIOR /( EXTERIOR
DOOR PANEL
|
ENDURA
DOOR SWEEP
/1? / (DBK-R)

W\ Rt
INTERIOR EXTERIOR Sox Kk
ENDURA Saeeis]
DOOR PANEL WEATHERSTRIP // DOOR PANEL B g
(QEBD/PE 650),  'NIERIOR EXTERIOR ZRIN LIS &
ENDURA 2 — | 8& NS DA
ENDURA INTERIOR EXTERIOR| & ©3 PWig =z
DOOR SWEEP WEATHERSTRIP, =22 Gui ¥ izio &
(DBK-ZAC) g QQQ (QEBD/PE 650) g;% 51
N Z 00000
(\' D Miiadon™

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/"1 "\ VERTICAL CROSS SECTION
\5/ Inswing Adjustable Threshold

#10 X 2.5" PFH WOOD SCREW OR
174" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/" 2"\ VERTICAL CROSS SECTION

U Inswing An‘ncu!c:’nng Threshold
w/ Pin Capiure

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/"3 VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW OR
174" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/"4 \ VERTICAL CROSS SECTION

w Outswing Bump Threshold

w Qutswing Bump Threshold

ui

ol

S i

Yo 14

Eg 6 o

- -

By g8 8

Wt —E.i";w

c -

[4] go“’.<

Z

2 982 §

i EEW0 =

2 459 @
23>K
%o'-
onwg

& O g
o x2

o > 0 b
4406 0

¢ Red %

& an g
=

B

| -4

@ e;

E é

3

[33

o

a

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
VERTICAL CROSS SECTIONS

PRODUCT:

LFS | PART OR ASSEMBLY:

UPDATE TO 2018 IBC/IRC CODE

] (&= M
=
! 4.54" ! l"——_— 4.56" _*’—"'—" !* 454" | ! 4.54" i ! 4.56" !
1 }INSWING ADJUSTABLE THRESHOLD INSWING ADJUSTABLE THRESHOLD 3 INSWING ADJUSTABLE THRESHOLD 4 INSWING ADJUSTABLE THRESHOLD 5 INSWING ADJUSTABLE THRESHOLD
ZAIL4565 2 ZAI4565FN ZAILAA4565 ZAIAA4565FN ZAl4565RDS
X 85
cﬂ@% mﬁ | DAY
4.56" | 456" 4.56" ! 456" — ! L———— 456" —————»]
INSWING ARTICULATING THRESHOLD INSWING ARTICULATING THRESHOLD 8 INSWING ARTICULATING THRESHOLD 9 INSWING ARTICULATING THRESHOLD 10 INSWING ARTICULATING THRESHOLD
6 LIACL4565 7 IACA4565FN IACLAA4565 ZACAA4565FN ZAC4565RDS
MAX. DESIGN PRESSURE = 25 PSF MAX. DESIGN PRESSURE = 25 PSF
T F A e = QR
s [l % %
1 { + J_
! 4.56" ,l ! 456" l 456" 4.56" !
e OUTSWING THRESHOLD 12)QUISWING THRESHOLD 13 OUTSWING THRESHOLD 14 OUTSWING THRESHOLD
ZOBL4565 ZOB4565FN ZOB4565RDS FOB4566

11/4/19 |ADD "FusionFrame” OPTION &

1

REVISIONS

s
<
a
o
Z
6

oaTE: 11/16/1

scat:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4682

SHEET 5 oF 6

© 2016 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-854 Masonite ST Opaque (Trilennium)\C - Drawings\TX-4678.79.81.82.dwg, 6.2

_J HEAD ANCHORS: i,
Zuz #10 X 2-1/2"WOOD SCREW (PINE JAMB) p Y
g O 2X FRAMING #10 X 3" WOOD SCREW (1-PIECE JAMB) 88, 2u
Lo (BY OTHERS) , e f= g ud
I8 " —— 1yp Gui 9B 87
© a (YP) . (TP Lo Z e ad
4 #10X 2.5" PFH WS "y GEC m
t P ‘ Z & £33 %
i SEE HINGE , AR I / SF Fre 28
T L “DEALT - —— - - - g>n B
T } ¥ F7 N £85 80
i . a2 O 8
3 - & Q%2 w
- SEE DETAIL 1 o & 3 Z8, bu
© E ASTRAGAL STRIKE e S.f 0
DETAIL1  PLATE @ HEAD JAMB Y 3ai gk
o 5 g
2 E) N JAMB ANCHORS: 2 g 7
N #10 X 2-1/2" WOOD SCREW (PINE/2-PIECE JAMB) g
) #10 X 3" WOOD SCREW (1-PIECE JAMB] \ 8
§ - q— - #8 X 2-1/2" PFH WS
(e o T P /
R SEE HINGE ) 4,. [{[o~ < o
DETAIL 2 #BXT'PFHWS <o | ol ™~ g X 3/4" PFH WS =
— o
B _ _ " 4" X 4" HINGE g &
N 2 5 =
A\ Lzu 023 <C
SEE DETAIL2 OR 3 bl s
/ " HINGE DETAIL 1 8 3
E3 * N S
. 2 o
@) 24
#8 X 2-1/2" PFH WS
77 SILL ANCHORS: - o s
4 (‘IY(PT\),P : #10X 2-1/2" PFH WOOD SCREW A -
: " (TYP. 1/4"X 2-3/4" ELCO OR 48 Y 1 PFH W 4, 1 " W
HINGE JAMB FLOOR SUBSTRATE MATERIAL FP T W CONCRETE SCREW SXTPWS < H = #BX3/4"PFHWS 3[8
=== CONCRETE (MIN. 3000 PS) ~— 4" X 4" HINGE ZI2
WOOD (G >=0.42) FRAME ANCHORING SN
XX S @ %
JAMB NOTES: * 5 2 {00 o
THE PINE OR "FusionFrame" 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDEJAMB.  NO1E: THESE ANCHORS REQUIRED HINGE DETAIL 2 Els| @
THE FusionFrame" 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY. FORD.P.> 40 PSF. ol @
CONCRETE ANCHOR NOTES: Sl
1. Concrete anchor locations at the comers may be adjusted to maintain the min. Lf ':5
- edge distance to mortar.joints, : : : . 3/16" X 2-3/4" TW CONCRETE SCREW : o g
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to OR ASTRAGAL PIN CAPTURE % 2
maintain the min. edge distance fo mortar joints, additional concrete anchors 1"
may be required fo ensure the "MAX. ON CENTER" dimension are not exceeded. #8 X 3" PFH WOOD SCREW COMPONENT (UNDER CAP) g w
3. Concrete anchor table: | . ;,.,«,.‘._;. — ASTRAGAL STRIKE . { z
_ \\ 1
= N o\l _ ® d @ oo
1APCON® | 3/1¢" 1-3/4" 3" -1/ = = = Z oaTE: 11,/16,/16
’Tw i i1 " ul SCALE: N. T- S.
tapcon® | 14 1-3/4 1-1/2 4 owe. Bv. JK
o o e | v " & /2"DIA-HOLE peran 2 DETAIL2_ DETAIL3 o o S
WOOD SCREW INSTALLATION NOTES: Outswing Inswing Inswing TX— 4682
1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws fo prevent the splitting of wood. SHEET 6 oF 6

© 2016 R.W. BuiLDING CONSULTANTS INC.




